	There is a more proportional link between votes and elected representatives

	It tends to produce coalition governments, which would have to involve compromise. This means it is difficult to pass bills. 

	
There are two types of MSPs - constituency MSPs and list MSPs - which can lead to conflict

	There still is a link between the MSP and the constituents as voters vote directly for their constituency MSP (paper 1)

	Nobody votes for a coalition
	Smaller parties can get representation (e.g. Green Party, Scottish Socialist Party)


	Some people feel their vote is less likely to be wasted as they get two votes. If their constituency choice is not elected then they will be represented through their regional MSPs. In total 8 MSPs to represent you. 
	Small parties, or even individuals, can hold the balance of power which gives them a lot of influence


